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import numpy das np

import pandas as pd

import matplotlib.pyplot as plt

dataset_1 = pd.Series([1l, 2.3, 3], index=list("abc"))

dataset_2 = pd.DataFrame(np.random.randint(@, 10, (6, 2)) / 10,
index=1ist("abcdef"),
columns=1ist("AB"))

IHE

color_1i = [
"#FF5A33",
"#FFEC5C",

c,

"#B4CF66",
"#44803F" ,
"#146152",
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fig = plt.figure()
axl = fig.add_subplot(111)
width = 0.13
np.arange(dataset_2.shape[1])
for i in range(dataset_2.shape[0]):
tmp = axl.bar(C
align="edge",
width=width,
X=X + 1 * width,
height=dataset_2.iloc[1, :],
color=color_li[i],
edgecolor="k",
label=dataset_2.index[1i],

D)
ax1l.bar_label(tmp, fmt="%.2f", padding=3)

.set_ylabel("Accuracy", position=(0, 0.5 / 1.2), ha="center")
.set_ylim(@, 1.2)
.legend(ncol=3)

.tick_paramsCaxis="both", which="major", direction="inout")

.tick_params(which="both", bottom=False)

.set_xticks(x + width / 2 * dataset_2.shape[0],
dataset_2.columns)
locator_major = plt.FixedLocator(locs=np.arange(0, 11, 2) / 10)
locator_minor = plt.FixedLocator(locs=np.arange(l, 10, 2) / 10)
axl.yaxis.set_major_locator(locator=Llocator_major)

axl.yaxis.set_minor_locator(locator=1locator_minor)
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Fig. 1: Double bar plot
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